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AQA A2 Chemistry 

1 Kinetics

1
(a)
Order with respect to A = 1; B = 2 [2]

(b)
Rate = k[A][B]2 [1]


Rate = k[A][B]2 and data from experiment 1 gives



3.20 × 10−3 = k(1.0 × 10−2)(4.0 × 10−3)2; this gives k as 2.0 × 104 [1];


Units = mol−2 dm6 s−1 [1]

(c)
Rate = k[A][B]2; rate = 2.0 × 104 × (6.0 × 10−3)3 = 4.32 × 10−3 mol dm−3 s−1 [1]

(d)
Rate = k[A][B]2; 9.22 × 10−2 = 2.0 × 104 × x3 [1]


x3 = 4.61 × 10−6; so x = 0.017 mol dm−3 [1]
2
(a)
Order with respect to propanone = 1 [1]


(b)
Order with respect to iodine = 0 [1]

(c)
Rate = k[CH3COCH3][H+][I2]0 [1]

(d)
It is consistent [1] because propanone and hydrogen ions (both first order) appear in the rate-determining step [1]
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